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Simplifying Rational Expressions

Rational Expressions:

171



What Happened To the Guy Who
Jumped From a 100-foot Tower )
Into a Large Glass of Root Beer? -

Simplify the expression, then find your anewer. Write the letter of the anewer in each box with
the exercise number. If the answer has a . shade in the box instead of writing a letter in it.
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3x +12 : a’ +8a +15 2n® + 8n®
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x -5 Pem g2 +4a-12 i n? -0On+14
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x“ =9 H a +9a+20 H 6]’1 +18n
e x+3 :9 a® - 25 @ 2n® —18n

5 : :

- 49 : 5a —15 : i — B —ab

3x =21 §°a2+5a—24 §®n +8n+16

x2 +2x ' a—-9 2n2 +7n+5
6x — 9x §®a — 94 .® 6n> +15n2

Answerg 1-5 i Answers 6-10 :  Angwers 11-15
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< x-3 gea—s a-5 fe n+4 03(n+2)

x =7 1 tem 1 +1 2n
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